BT /118
MODEL
/ SPEC.

HJ-04
HJ-05
HJ-06
HJ-08
HJ-10
HJ-12
HJ-15
HJ-18
HJ-21
HJ-24
HJ-32
HJ-40

H-1

53
53
67
87
101
108
143
143
159.5
159.5
159.5
159.5

50
62
62
80
80
80
80

‘lgﬂgﬂgl ) ()= )= ()= )
()
() ) (= )
[ )= )

86 22(25.5
86 22(25.5
90 25
90 25
90 25
90 25

H-6

8(5) 55

8(5) 55
9 975
9 975
9 975
9 975

H-7 H-8

43
43
50
50
50
50

24
24
28
18
18
20
38
38
62
62
62
62

H-9

10
10
12
12
13
16
20
20
40
40
40
40

H-10

M8x1.25P
M8x1.25P
M10x1.5P
M12x1.75P
M12x1.75P
M16x2P(M14x2P
M20x2.5P
M20x2.5P
M20x2.5P
M20x2.5P
M20x2.5P
M20x2.5P

SEESIRETRE
Serration Pitch  Weight (kg)

1.5 x 60’
1.5 x 60°
1.5 x 60°
1.5x60°
1.5 x 60°
1.5x60°
1.5 x 60’
1.5x60°
3x60°
3x60°
3x60°
3x60°

W

=S

0.4
0.4
0.95
1.9
2.8
3.5

EE{iI/UNIT:mm

2ZE

B-2

Reference Drawing

Fig.2
Fig.2
Fig.2
Fig.1
Fig.1
Fig.1






